
1. 
 Bjørn Enemark 

 Best Problems, 2019/92 

 Vito Rallo-80, Miniatures 

 1. Pr.  

  

 H#3 C+ 2+3+2 

  Circe Parrain 

  B: nBc4f4 

 

 

 A 1. d6  Sd5  

  2. nL×d5 nB×d5[+wSe6]+  

  3. f×e6[+nLc4] Kc3[+wSd7]# MM 

 

 B 1. nLd5 S×d5 

  2. K×d5[+nLe5] nB×e5[+wSc6] 

  3. d×c6[+nLd4] Kd3[+wSc7]# MM 

 

Theme:  

The piece captured in the last move gives mate thanks to a specific rebirth



2. 
 Bjørn Enemark 

 Curierul Problemistic, 2019/2 

 3. TT, miniatures 

 1. Pl.  

  

 H#2 2.1... C+ 3+0+2 

  B: wLc6c3 

 

 

 A 1. nBd1nS Sd2 

  2. nKd4 Td5#   

 

  1. nKe2 Td5 

  2. nBd1nT Td2#  

 

 B 1. nBd1nL Te5 

  2. nLb3 Te3#  

 

  1. nKc4 La5 

  2. nBd1nD Se3#  

 

 Neutral king 

 AUW



3. 
 Bjørn Enemark 

 Curierul Problemistic, 2020/5 

 10. TT 

 not judged yet 

  

 H#4  C+ 3+3 

  Castling chess 

  B: sBd6f4 

    

 

   FEN N5n1/8/3p4/3k4/7K/7N/8/8 

 

 

 A 1. Kb7/wSa8-c6 Kg3 

  2. Kc7  Kg5/sSg8-g4 

  3. Kc8  Kg6 

  4. Ke6/sSg4-d7 Sf4#  MM 

 

 B 1. Kc4  Kg4 

  2. Ke4/sBf4-d4 Sb6 

  3. Se7  Sc4 

  4. Sd5  Sf2# MM 

 

 

 photographic echo 

 

 

  

 

 

  

   



4. 
 

 Bjørn Enemark 

 Problemskak, 2019/46 

 not judged yet 

  

 H#2  C+ 3+1+2 

  B: nBb5b6 

 

 A 1. nBb4 nBc8nL  

  2. nLb7 Se8# 

 

 B 1. nBb5 nBc8nS+ 

  2. nSb6 Se4# 

 

 Minor promotion, black provides en extra officer for white



5. 
 Bjørn Enemark 

 Best Problems, 2019/92 

 Vito Rallo-80, > 7 pieces 

 5. Pr. 

  

 H#3 3.1... C+ 4+4 

  Circe Parrain 

 

 FEN 5K2/1p6/8/r7/1N1kB1p1/8/8/4N3 

 

  

  1. K×e4 Sd5[+wLg5] 

  2. T×d5 Kf7[+wSd4] 

  3. T×d4 Ke6[+wSc3]#  

 

  1. Tf5+ Ke7 

  2. Tf4  Sec2+ 

  3. K×e4 Kd6[+wLd3]#  

 

  1. Td5  S×d5 

  2. Ke5[+sTe6] Sf6 

  3. K×f6 Sf3[+wSg8]#  

 

Theme:  

The piece captured in the last move gives mate thanks to a specific rebirth



6. 
  

 Bjørn Enemark 

 Problemskak, 2021/54 

 not judged yet 

  

 H#2.5  C+ 5+5 

  B: sSd4  sBg3 

 

 

 A 1.  -  DEe6 

  2. Ke5  Ke7 

  3. g2  DEe3#  

 

 B: 1.  -  DEd3 

  2. Ke6  e5 

  3. Se4  DEe2# 

 

Dolphins must function as both grasshopper and kangaroo in each solution 

 

  

   


